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Instructions : - All questions are compulsory. There are 26 questions in all.
(i) F9IE-TH % U W1 E—TUE- &, GUS-, WUS-W, WIS-T AN @S-35 |
This question paper has five sections—Section-A, Section-B, Section-C,
Section-D and Section-E. .
(iif) @E-AN YA YA E, TS H 1 F B WS- A G FAE, TF &
2 3% ¥ 1 GUS-U 7 918 TR €, T4® % 3 I{H ¥ 1 @eIH 4 aﬁ:aﬂtﬁ
TAR IR TR AT TAE, TRAF F s iFT1 -

Section-A contains five questions of 1 mark each. Section-B contains
five questions of 2 marks each. Section-C contains twelve questions

of 3 marks each. Section-D contains one question of 4 marks and.

Section-E contains three questions of 5 marks each.

(iv) @ve-T g1 @vs-3 & o Wl H il faseq & wraum €1

Internal choices are given in all questions of Section-D and Section-E.
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@ug-3 / (Section-A)

et @rda T ¥ 2 7 SI A fafEg) [Vs+vi=1]

What is linear charge density? Write its SI unit.

). FTE A B 1z R B €2 _ (1]
What is the mass of a photon having wavelength 1.7

4 7% S 8GR R e e Wi €, @ fra yeR

T B R ? ' (1]

When boron impurity is added to pure germanium, which type of
semiconductor is obtained?

- % BT it aa S whafie a2 [1]
Which mirror forms always virtual and small image?

mﬁﬁﬂmmﬁmqﬁfo’%lmaﬁwwqﬁmﬁrm 1]

The peak value of alternating current is Iy- What is its root mean
square value?
@Gug-q/ (Section-B)

T 1 Wkl H1 A 470 + 5% 3 R, 3% O W w9 "R 2]

The resistance of carbon resistor is 470 + 5% ohms. Write the order
of colour rings for it.

Ayfaa v yfea v 3§ Q) o fafaw)

Write two differences between polarized and unpolarized light.

[1+1=2)

AR IUHN F A A i & & siw fafay) 2]
Write two differences betweén transmitter and receiver in

communication devices.
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Find out cquivalent capacitance between the points A and B in the
following circuit .

1 o - s

Spr SpF SuF

Wwﬁﬁmﬁmmaﬁmﬁmwﬁwtaﬁﬁﬁ,ﬁ? 2]

Conncction wircs are made up of copper or aluminium, why?

@ue-A / (Section-C)

q&q-atﬁmmmﬁamﬁmm%?mammﬁm

fefau [1+2=3]
How microwaves are produced? Write its two important uses.

T T R TG A T ¢ = 22— 5+ T &, T 7 A foredl-

Jax F o ¢ F A AHT H §1 ¢ =2 Yhe W U | N fagd-wH

@ W@ e 2 [2+1=3]
The magnetic flux linked with a closed loopisdp= 22 - 5t+7, where

¢ in milli-weber and 7 in second. What will be the induced e.m.f.

mﬁﬁqmm&ﬁamﬁaﬂaﬂmmmmﬁmﬁﬁz
kT & SR B § | - . 3]
Prove that the mean life of a radioactive sample is reciprocal of

decay constant.

e T e WY T3 ? SR TR, Frm-aes T, faw
1 ey wfedy W wey vy efsg) [1+2=3]

What is internal resistance of a cell? Derive the relation between

internal resistance, electromotive force, potential difference and

external resistance. ‘
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o | ﬁmw#?mﬂ?a‘rmwmﬁw (14229
What is total reflecting prism? Writc its two important uses
NOT ¥z @1 i
N hﬁﬁmm.qeﬂmmmmwﬁmt [1+1+1=3)

struct the logic symbol, Boolean expressi

, pression and truth ta
NOT gate. o
= o onef HHHERY
. [1+1+1=3]

() AP Saaely
(i) o we
(i) TafemTor 3 da wgfy

Explain the meaningg of the following :
(1)  Thermionic emissjon

(if)  Work function

(#ii) Dual nature of radiation

P-N ¥fy erie 71 32 s vt # farqm ey e 8 v/
Sfvrenefres IR http://www.cgboardonline.com (1+1+1=3]
What is P-N junction diode? Draw an electric circuit and construct

its ¥~/ characteristic curve in forward bias.

60° =11 TS T T gra et gan faae P A 38° 2 1 e &

ST 1 AadiE I T (sin 49° = 0.7547) i3]
The minimum deviation angle occurred by a prism of prism angle

60° is 38°. Calculate the refractive index of the material of prism.

(sin 49° = 0.7547)

R a1} 7 0% < wy@ age fafag) [1+2=3]
What is communication system? Write its two important components.

AR ¥ T wiew F 9 W@ w0 fafan [1+1+1=3]

Write three drawbacks of Bohr's atomic model.
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TUE-2 / (Section-D)
wyT-23 WW‘W*WWWmmaWFWWWm
NS R SR 1 2 sl e o, o e
T R T ST QA g oz o 3 A 7
M%Wm@—“ﬁl@ﬁaﬁmtwﬁﬁﬁ“
"ﬁ@hmmmﬁqﬁ%lﬁﬁamwﬁw#mmw@
& Forert feremies ward e 3 1w 2
T DT SR R P g ¥ s ARG
() ¥R forg-arew we v w1 v 42
(7)) W faga wma ) oo sar) a9 frgw =1 9 T w9 fafaw)
(#1) mﬁﬁa"-ﬁﬁq’fmg@ﬁm(qﬁg ) ?

Ajay and his friends went for a walk. There they saw a metallic chain
attached to a truck touching the ground. It was also written on the
truck, ‘“beware highly inflammable”. Ajay explained to his friends

[1+2+ 1=4]

that during motion of truck, magnetic lines of the earth are cut by its
axle and due to this some e.m.f. will be induced across its ends. This

induced charge is discharging to the earth through this metallic chain

and explosive materials are safe.
JAnswer the following questions on the basis of the above paragraph :
() When does an induced e.m.f. produce?

(i) Name and state the law which gives direction of induced current.

(iii) Write the values displayed by Ajay (any fwo).
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3rerar
OR

fororay 7 wCH T VAT T A A A ¥ fape-3 3wy OR

7 awe & AR M W W 9@ THF % Faeemd o v W PR

g 3 TR A 3 e G o S e ag w9 oin A%

T | I TS CH BN o ohe et weran @ e omfd A

= faa

T AT F IR T el F e A [2+1+1=4]
() VA H HEA Y W A o st e

(i) m@ﬁmmw&rﬂﬁaﬁazﬁ% Ffiresier § ¢ 4.
el ITT FQ E | F 2

(i) e = 6 il = weia e (2% @) 2
Vijay walked bare foot to replace the fuse wire in kit-kat fitted with
the alternating current supply mains for his house. Suddenly he

screamed and fall on the floor. His son Amit heared the cries and

rashed to the place with shoes on. He took a wooden baton and used

it to switch off the mains supply.
Answer the following questions on the basis of above paragraph :
(i)  What is the voltage and frequency of mains supply in India?

(i) These days most of the electrical devices we use require AC
voltage. Why?

(iif) Write the values displayed by Amit (any two).

Wue-3 / (Section-E)
U¥-24  faga uRERl TR Foeeh F 9w F afew e fag w g A
& fore = W i | [5)

Deduce an expression for magnetic field at a point on the axis of a
current carrying circular coil.
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e a1 o FTC N T am) gph g g F AR F
STTHATTITT Bt ¥ | . (14+2+2=5]

What is moving coil galvanometer? Draw labelled diagram of

suspended coil galvanometer and prove that the deflection of a coil

is directly proportional to the current flowing through it.

w-25  Tog FW 6 Rl ot 7% ) e aren vt fage woew 39 A9

qy1-26

TS & STt U o1 oIW w1 7 2w &, el g, o A
foregerefieran & | 59 wig =1 m sﬂﬁqﬁoaqmﬁ A % g8 & e &, A
e v =1 A foraen @ 2 (1+3+1=5]
Prove that the total electric flux associated with a closed surface
is elo times the total charge present inside the closed surface, where
& is permittivity of free space. Write also name of the theorem. What
will be the value of electric flux if the charge lies outside the closed surface?
srerat
OR
T 9 feafee S 741 & 7 30 ok A= WY | T8 Feil 6
9§ 3R Fel T S e ? [1+2+2=5)

What is the potential energy of a capacitor? Derive its expression.

Where and in which form this energy is found?

fereht waet oiw & forg g wifse foh

760z

el ol & T S ¥ 1 5]
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their usual meanings,

Fo

where symbols have
arerar

OR

g qee w1 T ST Wi wen syt g % fog s
W‘q’ﬂ'ﬁﬂﬁﬁdﬁ'ﬂmﬁ- T g 3 e g w ) [243=)

Draw the ray diagram to show the formation of image by compound
microscope and obtain an expression for the magnifying power when

final image is formed at least distance of distinct vision.
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